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Fer: (i) 9 yea-uz e umi § s @ - 7, @ 3k T
Directions : This question paper is divided into three parts : 'A', 'B' and 'C'.
(i) 9 '® I Wenlial & foe sifErf 2
Part 'A’ is compulsory for all candidates.
(i) NG 3R T H Y D B UM & BRAT 2
Any one part from Parts 'B' and 'C' is to be attempted.
(iv) sl /g FefRa sie 376 W sifea 2
Marks allotted to the questions are mentioned against them.
(v) 9% 999 & egFYde ufed qem e FeR Al
Read each question carefully and answer to the point.
(vi) % AT 1 91 20 SEfadeiIa Wed &1 39 91 & TP @og & IR A IR fbeq
fedr e | e fowew el SeRyfRasr # fRae|
Question No. 1 & 20 are multiple choice questions. Four options are
given in answer of each part of these questions. Write correct option in
yoLlr answer book.
(vii) F9 9-07 § T9Y R o5 ey T8l & auit siqug ye=t 3 aniaRe e g
fobarr T ®1 O el # dact v e a1 & IR A
There is no overall choice in this question paper, however, an internal

choice has been provided in few questions. Attempt only one of the

given choices in such questions.

[1] [P.T.O.



1y o
\

()

)

432 (IGX)

A - P (ERTA)
Part-'A’ (Accountancy)

ﬁm%fﬁaﬁ%aﬁqmﬁ?mwﬁm%? 1
() T (i) 3iperor BH (iii) @ar (iv) TESID TR

Which of the following is an example of Non-profit organisation?

(i) Corporations (i) Audit Firms
(i) Insurance Companies (iv) Public Hospitals
g 3R AT Tl A fir &<an 2 ]

0 Jws I (i) ol T (i) Z& /e (iv) IR

Income and expenditure account generally indicates-

(i) Cash Balance (i) Capital Fund

(iiiyy Net Profit / Loss (iv) Surplus/Deficit
a@aﬁﬁmagﬁﬁmmﬁa%mm%- 1

© (i) g @ (i) wEERT & §E E|

(iity e @I @ (iv) = & BB e

Profit & Loss of Realisation Account is transferred to-

(i) Profit and Loss Account fiadihe Capital Account of the Partners
(iii) Goodwill Account (iv) None of these
%@qﬁv@maﬁﬂ@a@ﬁqﬁ%ﬁmmm% 1

() el vm R @ e 3 () ¥ QR ) Y e 3
(i) e TR} B e 1 (iv) = & B T

A new partner may be admitted into a partnership—

(i) With the consent of any one partner

(i) With the consent of all old partners

(i) With the consent of majority of partners

(iv) None of these
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(5) st foodr T 3ielt & O FiEe & ueETe 3iET &1 W & U9 BT FRAIRG R &

i &- 1
(i) oMy g faaRor & (i) TN Ho @ @
(i) T T T B (iv) T8 ¥ P &

Balance of forfeited shares account after re-issue of forfeited shares is
transferred to-
(i) Statement of profit & loss (ii) Capital Reserve Account

(iii) General Reserve Account (iv) None of these

(T) FOUFUR! 8 § - 1
(i) SH & TED (i) SN P TS
(i) P & THER (iv) S & YD

Debentureholders are the-
(i) Customers of the company (ii) Owners of the company
(iii) Creditors of the company (iv) Managers of the company

o TR 2 W 4 96 W 6 U BUEl & TR He' 31UdT ‘e’ Sifhd IR 3% !
IR gRdT H foikae-

Note : In Question No. 2 to 4, mark 'True' or 'False' against the given statements

and write them in your answer book-

Dictsl T IR TATHGRT I 7l 1

College is a non profit organisation.

e 3ik Y= @ v @ @ Bl 1
Receipts and Payments account is an expenditure account.
Ra # N et & sFAkT @ gl 1

Limited partnership is not allowed in India.

HHI eTH R qRA(dd A1 PT STEGT F9T Beawdl &P 1
What is called the excess of actual profit over normal profit?

IAEER B & fdued ), dfua oy 3tk daa &1 e g @ # far simar 82 1

On dissolution of partnership firm, accumulated profits and reserves are
transferred to which account?

Rm AT @ B S & alie fug § fog we (9NY) & sania et ST 87 1
Under which head of company's balance sheet, the calls-in-advance account is
shown?
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8. 3 MM W g Abs TId H B ar 3R felka| 2

Write any two differences between Receipt and Payment account and Cash

book.

9. YRER! & B a W FaEY 3 AHER] Tord & auRafa § ong da 2
Give any two rules of partnership which apply in the absence of partnership
deed.

10. uRad=end Yo vd @Rl 4ot & 31 o =R ferae| 2
Write any two differences between fluctuating capital and fixed capital.

11. 372l vd oA H B8 & 3R feiRkaul 2
Write any two differences between shares and debentures.

12. g o6 B FF GOeT & MR W 3 001 N Tl IR SIS - 4
3MH :

T 9T §U T 2,400, FR BT foran ama IR 2 140; BieT ews T 700; TN TE I
MM R 1,500; fafrimt & s samst @ 720, WA gew T 600, & T 1200.
I -
A T 144; 7Y o0 % 240; 9 < 1200; BUTS TAT OG- AT T 360; STETA & BT IR
% 1,020; dioRR B A X 816; forgd = T 480; faman 3R &= % 600.
e : a¥ S 3T W 3aT daT T 300 FAT T Tl T 500 AT| BER W T 200 FRA TR
gl
B O 1 FHR 2021 T 1,165
s T1! 31 fawmaR 2021 T 3,516,
Prepare a Receipt and Payment Account of Doon Club from the following
information-
Receipts :
Subscriptions Received ¥ 2,400; Rent of Room ¥ 140; Games fees ¥ 700;
Receipts from canteen % 1,500; Interest on Investment ¥ 720; Entrance Fees -
% 600; Donation ¥ 1,200.
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14.

Payments :
Repairs ¥ 144; Petty expenses % 240; Salaries ¥ 1,200; Printing and Stationery

Z 360; Canteen Stores ¥ 1,020; Wages of guard ¥ 816; Electric charges X 480;
Rent and taxes ¥ 600.

Note : There were outstanding salary ¥ 300 and accrued subscription ¥ 500 at
the end of the year. Furniture is to be depreciated by ¥ 200.

Cash Balance 1st January, 2021 ¥ 1,116.

Cash Balance 31st December, 2021 ¥ 3,516.

M 3R e 7 : 3 & 3ruE o A &1 fIWie aRa g ARERT # €1 Hig B WIRER &
w7 F wder & srar &1 |re & v # W 3 By & 1/7 B @ aRan @ 3R A s
TR & 1/3 B AW BT 2| W IS BT AT U S ifowe] 4
Ram and Mohan have been in partnership sharing profits in the ratio of 7 : 3.
Sohan is admitted as a partner. Ram surrenders 1/7 of his share and Mohan

surrenders 1/3 of his share in favour of Sohan. Find the new profit sharing ratio.

3ar / OR

T 9RER & WY R @i & a@ieT o 9 faftal o aof= aize)

Discuss various methods of accounting for goodwill on admission of a new

partner.

310w 379 amer 10,000 Fwarm 37e # farwnfsier T 1,00,000 B Gotger Toit arewr A feq0 Fwil
= 4,000 3l & Frfes fean 5/ o af sier 2 1 3mdeT |, * 2 37ded W, ¥ 3 T e
R 3R 9 31 g R o €| @it s o1 e fftea e w81 59 a-aHl & fore
s Afaftear sifsel 4
A Ltd. Company with registered capital of ¥ 1,00,000 divided into 10,000 equity
shares of ¥ 10 each, issued 4000 shares payable as ¥ 1 per share on application,
Z 2 on allotment, T 3 on first call and the balance on final call. All payments were

duly received. Pass journal entries for above transactions.

3RMdr / OR
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qaifieR e o1 &° i TeR & gaifteR sl @ avl ifsel

What is a 'Preference Share'? Describe the different types of preference shares.

p it ¥ I @1 9IS T 10 @rer 1,000 3T Frifha A1 I ¥ X 3 Sded |, T 4 3MeA
R T febg e Ud ife AT & T 3 YT TET W] ARUTHREET 36 3T BT ERUT IR
Rrami p ffics & qRam! § 3Magad S widfedl BTl 4
P Ltd. issued 1,000 shares of ¥ 10 each to Ram. Ram paid ¥ 3 per share on
application, T 4 on allotment, but failed to pay ¥ 3 per share on first and final call.
Consequently his shares were forfeited. Pass necessary journal entries in the

books of P Ltd.

frafiRaa aneet 9, sitga @i & et faftr g1 @fa & Tom Fifse- 6
(i) dardfae 3iTd @9 : T 80,000

(i) MR T @ & : 10%

(iii) P FeRr (Eafd B Brgax) : T 10,00,000

(iv) 9Ter afded : ¥ 4,00,000

From the figures given below, calculate goodwill according to the capitalisation
of Average Profits Method-

(i) Actual Average Profits : ¥ 80,000

(i) Normal rate of return : 10%

(i) Total Assets (excluding goodwill) : ¥ 10,00,000

(iv) Outside liabilities : ¥ 4,00,000

3@l / OR

Y @ SraUReT &1 goiT B 3k sue graie o [aim faftrt @1 we ifsel

Describe the concept of goodwill and explain the various methods of its evaluation.

432 (IGX) [6]



17. 1 38d, 2020 BT A @ B &1 3nf¥ies fergr Fr=feiaa &1 9 arw-g1f &1 fawmsi 8 : 2 & argurd

¥ & 6
TRIE RN | |t ERRITRT
z N
fafaer oHeR 15,000 | ¥ad 18,000
ol @ i e T FRIARI 15,000
A 20,000 B 12,000
B 25,000 | 45,000 | @R 10,000
AHS 5,000
60,000 60,000

3% oy & ¢ @ = ol R aeER § yaw e -

(i) 9% 25,000 T Y3t & wq & awm r 1/5 o9 & ey & fow 10,000 % @l & w9 #
Giepil

(i) <t BT Jedio- - g3 -
& 25,000 Z; WOE g FLERY 12,000 T; B 12,000 ; SHaR 9,500 ¥ (Wfaver ol
& PR

(iiiy T S g3 &b AT it & e ¥ v Qi 1,500 ] & 7, oY R A e fora

= gl
IR $ eRATHT 8] HALID TR @ TUT C & JaeT $ & BT MMM fargr s=sel
On 1st April, 2020 the Balance Sheet of A and B is following. They share profits
and losses in the ratio 3:2 .

Liabilities Amount Assets Amount
4 4

Sundry creditors 15,000 Building 18,000
Capital A/cs 3 Plant & Machinery 15,000
A 20,000 Stock 12,000
B : 25,000 45,000 Debtors 10,000
| Cash 5,000

60,000 60, 000

432 (IGX) [7] [P.T.O.



C was admitted in the partnership on that date under following circumstances :

(i) He will give ¥ 25,000 as capital and will bring X 10,000 as goodwill for 1/5
share of profit.

(i) Assets are evaluated as follows :
Building ¥ 25,000; Plant & Machinery ¥ 12,000; Stock X 12,000; Debtors
Z 9500 (due to doubtful debts).

(i) It is known that there is a liability for goods received for X 1,500, which is
not written in the books.
Prepare necessary ledger accounts & also give Balance sheet after the
admission of C.

18. B % T 100 GT& 100 T 3791 3N X 50 B o UE Aw I B M e e o gl
< foe T 9, caﬁwowﬁ%raimgvh:gmmﬁgengﬁvﬁa%ew%l &R 3R
R & o &q et it Qfarel 6
B's 100 forfeited equity shares of ¥ 100 each for non-payment of first and final
call of Z 50 are re-issued to C for ¥ 70 per share fully paid. Give the journal

entries for recording forfeiture and reissue.
3|l / OR

mﬁrﬁﬁmiﬁ@mmwﬁ%‘?aﬁ%mﬁwﬁﬁﬁwﬁﬁaﬁmﬂﬁé? B B
i forgr & 3w G50 1 st W e ST T &2

What do you mean by share capital of a company? In how many classes it can
be divided? How is share capital shown in a company's balance sheet?

19. TaEE EES RS &1 FUIA ghe B < 16,000 ¥, 3 T 20,000 () Fae @
v &1 G qet 3§ FOT0A T 50,000 & 3R 1% oY & R X 10,000 O BT TN BRA
$ T T 84 P & AT 12,000 (AT e & o Tl mmﬁmmm
émmﬁ@wﬁﬁml(mmmmmqﬁﬁﬁm) 6
The Debenture Redemption Fund of Export Industries Ltd. stood at ¥ 16,000,
represented by ¥ 20,000 (nominal) investments. The debentures stood in the
books at ¥ 50,000 and the company sold ¥ 12,000 (nominal) investments at 4
84 for the purpose of redeeming 10,000 debentures at a premium of 1%. You
are required to show the ledger accounts to record the above transactions.

(Ignore interest and brokerage).

432 (IGX) [8]



a1t - ‘@ (fi faaon &1 fagason)

Part-'B' (Analysis of Financial Statements)

20. () HNRE el EY-3 B SFER ReR Twfidl & o $F AT S & - 1
(i) uRawes foar iy fafem fean
(i) o= foeam (iv) IR6H I DS &l

According to AS-3 (Revised), purchase of fixed assets is treated as :

(i) Operating activity (i) Investing activity
(iii) Financing activity (iv) None of the above
(@) aRewdr U & afnfea @ a o 1
(i) B (i) do 9w
(i) TR (iv) efaar

Quick ratio does not include :
(i) Cash (i) Bank Balance

(iii) Debtors (iv) Inventories

A : W EE 21 qur 22 ¥ A U sl & arE Hed ST ‘I’ 3ifd IR 3% I
FR gRaer 7 faRae-

Note : In Question No. 21 & 22, mark 'True' or 'False’ against the given statements

and write them in your answer book-

21.%%%@,%%@%%@%! 1

Cash-flow statement is a substitute of Cash account.

432 (IGX) [9] [P.T.O.



22. ] T o9 O] afred ot ameRt srura 2:1

Ideal ratio of current assets and current liabilities is 2:1.

23. APbs vaTE fTaRor & IS a1 35T Al
Give any two uses of Cash Flow Statement.

24. Frifea Gem ¥ APs varE faavor daR ife-

2
IRRS ApE AT 15,000
31faw s A 17,000
i | HHl 8,000
g faa1 ® gfx 12,000
R gl of foe! 30,000
< 37afer & o1 B YA 50,000
a9y & foe e 2,000

From the following information, prepare a cash flow statement-

4
Opening Cash Balance 15,000
Closing Cash Balance 17,000
Decrease in Stock 8,000
Increase in Bills Payable 12,000
Sales of Fixed Assets 30,000
Repayment of Long-term Loan 50,000
Net Profit for the year 2,000

432 (IGX) [10]



5. HEhT 1. % af 2021 & foi aferel @ e whu-wHs o ™ €

4
RIS o 65,000
¥ & eRF B 3,40,000
o & <R~ fawa 4,00,000
f~am T 50,000
af 2021 % fore wRefer for. @1 weer 3gUT S Bl 4

The following inventory data has been taken from the financial records of Maruti
Ltd. for 2021:

3
Inventory Opening 65,000
Purchases during the year 3,40,000
Sales during the year 4,00,000
Closing Inventory 50,000

Calculate Inventory ratio of Maruti Ltd. for the year 2021.

26. TIe] HRURYE & FNeRE I Fr w6 31 TR, 2022 @ o 5 ™ &:

z
APHs 25,000
SR () 12,000
el 8,000
gdad 2,000
T ER 12,000
g faux 3,000
famt 53,000
wa 34,000
B IR 750
Ih GEl & YR R 7 P T0FT DHifore- 6
(31) BriEe st U

(§) a=el SR

(Fq) oY Mad
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The following data are being taken from the records of Tata Corporation as on
31st December, 2022-

X
Cash 25,000
Debtors (Net) 12,000
Inventory 8,000
Prepaid Expenses 2,000
Creditors 12,000
Bills Payable 3,000
Sales 53,000
Purchases 34,000
Purchase Returns 750
On the basis of above information, compute the following:
(a) Working Capital Ratio
(b) Quick Ratio
(c) Inventory Turnover
a-T7 (Sifhfers i)
Part-'C' (Computerised Accounting)
20. (B) g & Hifcid U0 T Fed & 1
(i) WK (i) @SR
(i) HER W (iv) 2T

Physical components of a computer is called:
(i) Software (i) Hardware

(iii) Computér Programme (iv) Data

432 (IGX) [12]



(@) TR YEE JoTe & ey

() eI gk (i) G THND

(iii) HHCIdR TEid (iv) 394 3 ¥ B @l
Database Management system is a:

(i) Hardware system (i) Information technique
(iii) Software system (iv) None of the above

ye G 21 T 22 ¥ R e Bl 5 TR e e e’ 3ifdd ax 3 3
R gRaar # fafae |

Note : In Question No. 21 & 22, mark 'True' or 'False’ against the given statements

.

22,

23,

24.

25.

and write them in your answer book.

PR e ot @1 e Ao § aR Hod & 1

Computer can perform millions of operations in one second.

HIgex B I g Bl 2 1
Computer have intelligence of their own.
SR Bieeiic T o7 2

What is electronic spreadsheet?

W@ﬁz%mwﬁﬁﬁm%@zaﬁmﬁwﬁ%ﬁémmml 4

Write any four advantages of using electronic spreadsheet in place of manual
spreadsheet.
SR B IR Y& [Rawsi o Sl 4

Explain four main features of computer.
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26. () Wt vam . 40 aferal & Frged &= €, fod aa= # 9@ 9o, Wews e, AP
fes=rar sram e eeRy arfofel e wfEfea €1 yram & FefoaRed e &

WA P TOHT B & foTe FFATcTRad STeT &1 B TF TaRis § 39T Rd g U4 Y, Ue.
§ w1 fofae|

T fesRram W= : 15,000 HeT 9+ @ T 3000, ¥ 25,000 F& de ddb I 5000,

3 40,000 HET da & 37RI® TR T 9000.
Ty eifergfel 9T : HeT 9 a1 20 HfoRrd o X | @it =gaw % 4000. 3

M/S Shyam Ltd. employs 40 persons whose salary comprises basic pay,
dearness allowance, house rent allowance and city compensatory allowance.
The following are the rules that govern the payment:

Write the queries in SQL using the following data in MS-Access to compute
the allowances.

House Rent Allowance : ¥ 3000 upto a basic pay of ¥ 15,000, ¥ 5000 upto
basic pay of ¥ 25,000, ¥ 9,000 for baéic pay above ¥ 40,000

City compensatory allowance : @20% of basic pay subject to a minimum

of ¥ 4000.

(@) =R = & MR R WG T aive &Tel & Bl T0MT &g Siseic Bie

foRae 3
0T B AR Z 4000

FOT ) 3rafer 4

e fovali @t emRTiRT Z 200

Tt ®f Hwe 48
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Write spreadsheet formula to find out monthly and annual rate of interest

on the basis of following informations:

Loan Amount

Term of Loan

Amount of Monthly Instalments

Number of Instalments

% % %k %k ¥k

[15]

% 4000

4 years
T 200

48



